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Q.1 Choose the correct alternative to fill the blanks.
His death ............... many tributes than have been paid at the................ of any other
human being in history
a. brought : passing
b. directed : helm
¢. delivered: description
d. invited : living

Ans JAJ
X B2
X cs
X D.4

Question ID : 4774416949
Status : Answered
Chosen Option: 1




Q2 Choose the antonym
ADVERSITY

Sincerity
Animosity
Curiosity
Prosperity
Ans X A1

X B2

X cs3

v

eooe

Question ID : 4774416941
Status : Not Answered
Chosen Option : --

Q3 Choose the correct alternative to fill the blanks.
We must avail ourselves........ every opportunity that comes...... our way.

to:to
on:in
of :in
against : for
Ans XA 1

X B2

s
X D.4

e o op

Question ID : 4774416948
Status : Answered
Chosen Option : 3

Q.4 Choose the correct alternative to fill the blanks.

Historyis............ to a number of awe inspiring and brave women leading thousands of
men in battles ......... the famous Joan of Arc and our very own rani of Jhansi.
a. experience : indulging
b. great : regarding
¢. witness : including
d. true: like
Ans A1
X B2
s
X D.4

Question ID : 4774416952
Status : Answered
Chosen Option: 3




Q-5 Replace the bold phrase from the given options to make the sentence grammatically
correct.
Every employee is entitled to those benefits from the late regulations.
a. underneath the later
b. below the latest
¢. within the lately
d. under the latest

Ans X A1
X B2
X cs3
v W

Question ID : 4774416947
Status : Answered
Chosen Option : 4

Q.6 Replace the bold phrase from the given options to make the sentence grammatically
correct.
Recently there has been suddenly increased the price of oil
a. suddenly increasing
b. sudden increase from
c. asudden increase in
d. increased suddenly

Ans xA-1
X B2
s
X D4

Question ID : 4774416945
Status : Answered
Chosen Option : 3

Q7 Choose the Synonym
CONSOLIDATE

Contrive
Connive
Unite

. Conspire

Ans X A1
X B2
ves
X D4

a6 op

Question ID : 4774416933
Status : Not Answered
Chosen Option : --




Q.8 Choose the Synonym
GENESIS

Relevant
Beginning
Style
Movement
Ans x A1

B2

X c3

X D4

eeoTep

Question ID : 4774416935
Status : Answered
Chosen Option : 2

Q9 Choose the correct alternative to fill the blanks.
The new student found it difficult to............. with his classmates.
get along
get among
get well

getup
Ans JAW

X B2

X cs3

X D.4

=B SO =

Question ID : 4774416950
Status : Answered
Chosen Option: 1

Q10 Choose the Synonym
EMULATE

Imitate

Modify

Mollify
Inhabit

Ans JAW
X B2
X cs3
X D4

a0 o P

Question ID : 4774416937
Status : Answered
Chosen Option: 1




Q.11 Choose the Synonym
ENIGMA

Truth
Fear
Difficulty
Puzzle
Ans x A1

X B2

X c3

¥

eogoe

Question ID : 4774416936
Status : Answered
Chosen Option : 2

Q.12 | Choose the antonym
STRINGENT

a. Lenient
b. General
c. Vehement
d. Suff
Ans  of A1

X B2

X cs3

X D4

Question ID : 4774416942
Status : Answered
Chosen Option : 1




Q.13

Ans

Choose the correct alternative to fill the blanks.
The government ease foreign direct............... norms for the construction development
sector which is expected to provide a............ boost to the sector in terms of greater
foreign capital inflows.

a. investment : substance

b. invention : substantial

c. divestment : meagre

d. investment: substantial

X AT
X B2
X cs3
o4

Question ID : 4774416951
Status : Answered
Chosen Option : 4

Q.14

Ans

Choose the Synonym
DENSE

Sparse
Thick
Dark

Bright
X A1
B2
X cs3
X D4

/0o e

Question ID : 4774416934
Status : Answered
Chosen Option : 2

Q.15

Ans

Replace the bold phrase from the given options to make the sentence grammatically
correct.
They continued to work in the field despite of the heavy rains.
a. even though there is heavy rain
b. although heavily rains
c. inspite the heavy rains
d. even though it rained heavily

X A1
X B2
X cs3
W4

Question ID : 4774416944
Status : Answered
Chosen Option : 4




Q.16 Choose the antonym
SAGE

Rouge
Fool
Egoist
Snob

Ans A1
B2
X cs3
X D4

eoos

Question ID : 4774416940
Status : Not Answered
Chosen Option : --

Q17 Choose the antonym
ARROGANT

Proud
Meek

Insolent
Rude

Ans A1
ve2
X cs3
X D4

a0 op

Question ID : 4774416938
Status : Answered
Chosen Option : 4

Q18  Choose the antonym
REBUKED

Received
Awarded
Invited

. Praised
Ans x A1

X B2

X c3

¥

Boow

Question ID : 4774416939
Status : Not Answered
Chosen Option : --




Q.19 Replace the bold phrase from the given options to make the sentence grammatically
correct.
He advised his son not doing anything which is against his conscience
a. never to do
b. not done
¢. tonot doing
d. never done

Ans  of A1
X B2
X c3
X D4

Question ID : 4774416946
Status : Answered
Chosen Option : 1

Q.20 Replace the bold phrase from the given options to make the sentence grammatically
correct.
The long or short of it is that | do not want to deal with the new firm
a. The long and short of it
b. The long and short for it
¢. The long or short for it
d. The short and long for it

Ans JA"]
X B2
X cs3
X D4

Question ID : 4774416943
Status : Answered
Chosen Option : 2




Q.21

Ans

Comprehension:

Directions : A brief passage is given below. Read the passages carefully and answer the
next five questions.

A crucial element that defines the soap opera is the open ended nature of the narrative, with
stories spanning several episodes. One of the defining features that make a television programme
a soap opera, according to Albert Moran, is “that form of television that works with a continuous
open narrative. Each episode ends with a promise that the storyline is to be continued in another
episode.”

In 2012, Robert Lloyd of the Los Angeles Times wrote of daily dramas, “Although
melodramatically eventful, soap operas such as this also have a luxury of space that makes them
seem more naturalistic; indeed, the economics of the form demand long scenes and conversations
that a 22-episode-per-season weekly series might dispense with in half a dozen lines of dialogue
may be drawn out, as here, for pages. You spend more time even with the minor characters; the
apparent villains grow less apparently villainous.”

Soap opera storyline run concurrently, intersect and lead into further developments. An
individual episode of a soap opera will generally switch between several different concurrent
narrative threads that may at times interconnect and affect one another or may run entirely
independent of each other. Evening soap operas and serials that run for only a part of the year
tend to bring things to a dramatic end-of-season cliffhanger.

SubQuestion No : 21

An individual episode of a soap opera generally switches between
a. successive intersections of events
b. different concurrent narrative threads
¢. more times spent with minor characters
d. apparent villains that grow less apparent villainous

X AT
B2
X cs3
X D4

Question ID : 4774416957
Status : Answered
Chosen Option : 2




Comprehension:

Directions : A brief passage is given below. Read the passages carefully and answer the
next five questions.

A crucial element that defines the soap opera is the open ended nature of the narrative, with
stories spanning several episodes. One of the defining features that make a television programme
a soap opera, according to Albert Moran, is “that form of television that works with a continuous
open narrative. Each episode ends with a promise that the storyline is to be continued in another
episode.”

In 2012, Robert Lloyd of the Los Angeles Times wrote of daily dramas, “Although
melodramatically eventful, soap operas such as this also have a luxury of space that makes them
seem more naturalistic; indeed, the economics of the form demand long scenes and conversations
that a 22-episode-per-season weekly series might dispense with in half a dozen lines of dialogue
may be drawn out, as here, for pages. You spend more time even with the minor characters; the
apparent villains grow less apparently villainous.”

Soap opera storyline run concurrently, intersect and lead into further developments. An
individual episode of a soap opera will generally switch between several different concurrent
narrative threads that may at times interconnect and affect one another or may run entirely
independent of each other. Evening soap operas and serials that run for only a part of the year
tend to bring things to a dramatic end-of-season cliffhanger.

SubQuestion No : 22
Q.22 Soap opera that run for a part of the year usually end in
a. A cliffhanger
b. A sequence
c. Acliff
d. an episode
Ans  of A1
X B2
X cs3
X D.4

Question ID : 4774416958
Status : Answered
Chosen Option: 1




Comprehension:

Directions : A brief passage is given below. Read the passages carefully and answer the
next five questions.

A crucial element that defines the soap opera is the open ended nature of the narrative, with
stories spanning several episodes. One of the defining features that make a television programme
a soap opera, according to Albert Moran, is “that form of television that works with a continuous
open narrative. Each episode ends with a promise that the storyline is to be continued in another
episode.”

In 2012, Robert Lloyd of the Los Angeles Times wrote of daily dramas, “Although
melodramatically eventful, soap operas such as this also have a luxury of space that makes them
seem more naturalistic; indeed, the economics of the form demand long scenes and conversations
that a 22-episode-per-season weekly series might dispense with in half a dozen lines of dialogue
may be drawn out, as here, for pages. You spend more time even with the minor characters; the
apparent villains grow less apparently villainous.”

Soap opera storyline run concurrently, intersect and lead into further developments. An
individual episode of a soap opera will generally switch between several different concurrent
narrative threads that may at times interconnect and affect one another or may run entirely
independent of each other. Evening soap operas and serials that run for only a part of the year
tend to bring things to a dramatic end-of-season cliffhanger.

SubQuestion No : 23

Q23 The economics of a soap opera form demands for it to have

Ans

a. melodramatic events
b. promising storylines
c. long scenes

d. luxurious space

X A1
X B2
s
X D4

Question ID : 4774416956
Status : Answered
Chosen Option: 3




Comprehension:

Directions : A brief passage is given below. Read the passages carefully and answer the
next five questions.

A crucial element that defines the soap opera is the open ended nature of the narrative, with
stories spanning several episodes. One of the defining features that make a television programme
a soap opera, according to Albert Moran, is “that form of television that works with a continuous
open narrative. Each episode ends with a promise that the storyline is to be continued in another
episode.”

In 2012, Robert Lloyd of the Los Angeles Times wrote of daily dramas, “Although
melodramatically eventful, soap operas such as this also have a luxury of space that makes them
seem more naturalistic; indeed, the economics of the form demand long scenes and conversations
that a 22-episode-per-season weekly series might dispense with in half a dozen lines of dialogue
may be drawn out, as here, for pages. You spend more time even with the minor characters; the
apparent villains grow less apparently villainous.”

Soap opera storyline run concurrently, intersect and lead into further developments. An
individual episode of a soap opera will generally switch between several different concurrent
narrative threads that may at times interconnect and affect one another or may run entirely
independent of each other. Evening soap operas and serials that run for only a part of the year
tend to bring things to a dramatic end-of-season cliffhanger.

SubQuestion No : 24

Q.24 What does the author mean by the open-ended nature of soap operas?

Ans

a. Every episode ends abruptly
b. Consecutive episode have no connection
c¢. Each episode ends with a promise that the storyline is to be continued in another
episode
d. Every episode has a different story
X AT
X B2
v

X D.4

Question ID : 4774416954
Status : Answered
Chosen Option : 3




Comprehension:

Directions : A brief passage is given below. Read the passages carefully and answer the
next five questions.

A crucial element that defines the soap opera is the open ended nature of the narrative, with
stories spanning several episodes. One of the defining features that make a television programme
a soap opera, according to Albert Moran, is “that form of television that works with a continuous
open narrative. Each episode ends with a promise that the storyline is to be continued in another
episode.”

In 2012, Robert Lloyd of the Los Angeles Times wrote of daily dramas, “Although
melodramatically eventful, soap operas such as this also have a luxury of space that makes them
seem more naturalistic; indeed, the economics of the form demand long scenes and conversations
that a 22-episode-per-season weekly series might dispense with in half a dozen lines of dialogue
may be drawn out, as here, for pages. You spend more time even with the minor characters; the
apparent villains grow less apparently villainous.”

Soap opera storyline run concurrently, intersect and lead into further developments. An
individual episode of a soap opera will generally switch between several different concurrent
narrative threads that may at times interconnect and affect one another or may run entirely
independent of each other. Evening soap operas and serials that run for only a part of the year
tend to bring things to a dramatic end-of-season cliffhanger.

SubQuestion No : 25

Q25 A soap opera has the space for it to be more

Ans

a. dramatic
b. tragic

c. artistic

d. naturalistic

X A1
X B2
X c3
v

Question ID : 4774416955
Status : Answered
Chosen Option: 3

Q26 yakshagana is the folk dance of which state?

a. Kerala

b. Karnataka

¢. Uttar Pradesh

d. Himachal Pradesh

Ans A 1
vs2
X cs3
X D.4

Question ID : 4774416980
Status : Not Answered
Chosen Option : --




Q27 The World No Tobacco Day is observed on
a. March 18
b. April 20
¢. May 20
d. May 31
Ans X A1
X B2
X cs3

D4

Question ID : 4774416967
Status : Not Answered
Chosen Option : --

Q.28 OB stands for:

QOutside Broadcast
b. Outdoor Broadcast
¢. Official Beat

d. None of these

B

Ans lA_1
X B2
X cs3
X D.4

Question ID : 4774417014
Status : Not Answered
Chosen Option : --

Q.29 BEAG, DGCI, FIEK, ?
a. HKGM
b. HMIE
¢. HGKI
d. HKLJ

Ans  of A1
X B2
X cs3
X D.4

Question ID : 4774416986
Status : Answered
Chosen Option: 1




Q.30 Which word has been declared as word of the year 2019 by Oxford University?
a. Climatic Change
b. Create Havoc
¢. Climate Change
d. Climate Emergency

Ans A 1
X B2
X cs3
v W

Question ID : 4774416971
Status : Not Answered
Chosen Option : --

Q.31 A party was held in which a grandmother, father, mother, four sons, their wives, and one
son and two daughters to each of the sons were present. The number of females present
in the party is:

a. 12
b. 14
c. 18
d. 24

Ans A1
B2
X cs3
X D4

Question ID : 4774417006
Status : Not Answered
Chosen Option : --

Q32 “Mind Master: Winning Lessons from a Champion's Life” book is based on the
autobiography of:
a. Sourav Ganguly
b. Viswanathan Anand
¢. Sachin Tendulkar
d. Mary Kom

Ans XA 1
B2
X cs3
X D.4

Question ID : 4774416962
Status : Answered
Chosen Option : 2




Q33 Which actor became the brand ambassador of Arunachal Pradesh in 20167
a. Varun Dhawan
b. Ajay Devgan
¢. Anil Kapoor
d. John Abraham

Ans XA 1
X B2
X cs3
o4

Question ID : 4774416977
Status : Not Answered
Chosen Option : --

Q34 Which state’s road transport corporation has launched a dedicated women helpline called
“Damini” ?
a. Haryana
b. Rajasthan
¢. Uttar Pradesh
d. Uttarakhand

Ans A1
X B2
vos
X D4

Question ID : 4774416969
Status : Not Answered
Chosen Option : --

Q35 Eind the missing number: 1, 5, 13, 25, 41.?
a. 51

b. 57

c. 61

d. 63

Ans x A1
X B2
v

X D4

Question ID : 4774416998
Status : Answered
Chosen Option : 3




Q36 What is the name of the first private train in India?
a. Vivek Express
b. Tejas Express
¢. Himsagar Express
d. Samjhuata Express

Ans xA-1
B2
X cs3
X D4

Question ID : 4774416976
Status : Not Answered
Chosen Option : --

Q37 In the question given below, an alternative is odd. Find it
a. All India Radio
b. Private FM Radio
¢. Community Radio
d. Internet Radio

Ans XA 1
X B2
X cs3
o4

Question ID : 4774417022
Status : Answered
Chosen Option : 4

Q38 VVPAT stands for?
a. Voter Verifiable Paper Audit Trail
b. Voter Verifiable Paper Audit Track
c. Voter Verifiable Proper Audit Trail
d. Voter Verifiable Proper Audit Track

Ans “A"]
X B2
X cs3
X D4

Question ID : 4774416963
Status : Not Answered
Chosen Option : --




Q-39 TRAI stands for

Ans

Trans-Roadways Authority of India
Transport & Roads Authority of India
Telecom Regulatory Authority of India
Telephone Regulatory Authority of India

X A1
X B2
Vs
X D4

g o oe

Question ID : 4774416972
Status : Not Answered
Chosen Option : --

Q40 What is byline?

Ans

Reporter's name printed with story
Caption

Text written on lines

Footnote

o A
X B2

X cs3
X D4

eo TP

Question ID : 4774417020
Status : Answered
Chosen Option: 1

Q.41 What number will come in the last: 8, 6. 9, 23, 87. 7

Ans

a. 128
b. 226
c. 324
d. 429
X A1
X B2
X cs3

W4

Question ID : 4774416990
Status : Not Answered
Chosen Option : --




Q42 Where is the Film and Television Institute of India situated?
a. Mumbai
b. Pune
¢. Delhi
d. Chennai

Ans XA-1
2
X cs3
X D4

Question ID : 4774417025
Status : Answered
Chosen Option : 2

Q43 Choose the odd word
a. Nun
b. Knight
¢. Monk
d. Priest
Ans x A1
B2
X cs3
X D4

Question ID : 4774417005
Status : Answered
Chosen Option : 2

Q44 A journalist who is not attached with any newspaper is called:
a. Freelancer
b. Producer
c¢. Correspondent
d. Stinger

Ans lA_1
X B2
X cs3
X D.4

Question ID : 4774417021
Status : Answered
Chosen Option : 4




Q.45 Statements: Some actors are singers. All the singers are dancers.

Conclusion:
) & Some actors are dancers
1L No singer is actor

a. Only (I) conclusion follows
b. Only (II) conclusion follows
¢. Both (I) and (II) follows

d. None follow

Ans “A"]
X B2
X cs3
X D4

Question ID : 4774416993
Status : Answered
Chosen Option : 1

Q.46 Ajay is 14" from the right end in a row of 40 boys. What is his position from the left

end?

a. 24th
25th
26th
27th

Ans X A1
X B2
X cs3
v W

eo o

Question ID : 4774416988
Status : Answered
Chosen Option : 4

Q47 Which movie was based on Chetan Bhagat’s novel ‘Five points someone’?

a. 3idiots

b. 2 States
c. Kai Po Che
d. Hello

Ans JAW
X B.2
X cs3
X D.4

Question ID : 4774417032
Status : Answered
Chosen Option : 4




Q.48 Statements: All the windows are door. No door is a wall.

Conclusion:

L. Some windows are walls
IL. No wall is a door

Only (I) conclusion follows
Only (II) conclusion follows
Both (I) and (1I) follows
None follow
Ans A1

X B2

s

X D.4

oo P

Question ID : 4774416995
Status : Answered
Chosen Option: 2

Q.49 The major objective of the community radio station is
Infotainment

Entertainment

Economic profit

Social inclusion

Ans xA_1
X B2
X cs3
v W

o op

Question ID : 4774417011
Status : Not Answered
Chosen Option : --

Q50 An Find the missing number: 2, 3, 8, 63, ?
a. 3900
b. 3636
c. 3968
d. 3988

Ans xA-1
X B2
ves
X D4

Question ID : 4774417008
Status : Answered
Chosen Option : 3




.51 ) .
Q Who invented the radio?

a. Guglielmo Marconi

b. Alexander Graham Bell
¢. John Logic Baird

d. Lumiere brothers

Ans JAJ
X B2
X c3
X D4

Question ID : 4774417024
Status : Answered
Chosen Option: 1

Q.52 Three candidates contested an election and received 1136, 7636 and 11628 votes
respectively. What percentage of the total votes did the winning candidate get?

a. 57%
b. 60%
c. 65%
d. 90%

Ans  of A1
X B2
X cs3
X D.4

Question ID : 4774417002
Status : Answered
Chosen Option: 1

Q53 First Bank to introduce ATM in India is?

a. ICICI Bank
b. HSBC Bank
¢. HDFC Bank
d. YES Bank

Ans A1
vB2
X c3
X D4

Question ID : 4774416978
Status : Not Answered
Chosen Option : --




Q.54 MOQ: SUW:: IKM:?
a. JLN
b. OQS
¢. NOP
d. None of these

Ans A1
B2
X cs3
X D.4

Question ID : 4774416985
Status : Answered
Chosen Option : 2

Q.55 A brief introduction of a photograph is called:
a. Embargo
b. Credit line
c¢. Caption
d. None of these

Ans XA~1
X B2
ves
X D4

Question ID : 4774417015
Status : Not Answered
Chosen Option : --

Q.56 Rajeev buys good worth Rs. 6650. He gets a rebate of 6% on it. After getting the rebate,
he pays sales tax @ 10%. Find the amount he will have to pay for the goods.
a. 6876.10
b. 6999.20
c. 6654
d. 7000

Ans “A"]
X B2
X cs3
X D4

Question ID : 4774417003
Status : Not Answered
Chosen Option : --




Q.57 Who won the 2019 Raman Magsaysay Award for journalism?
a.  Amab Goswami
b. Rajat Sharma
¢. Ravish Kumar
d. Dibang
Ans x A1
X B2
ves
X D4

Question ID : 4774417027
Status : Answered
Chosen Option : 2

Q58 Which Indian actress was awarded with the Padma Shri award in 2020
a. Priyanka Chopra
b. Alia Bhatt
c¢. Katrina Kaif
d. Kangana Ranaut
Ans x A1
X B2
X cs3

W4

Question ID : 4774417029
Status : Answered
Chosen Option: 1

Q.59 Find the odd number from the given alternatives?
a. 25631
b. 33442
c. 34424
d. 52163

Ans xA~1
B2

X cs3
X D4

Question ID : 4774416991
Status : Answered
Chosen Option : 2




Q.60 [ndian Space Research Organization is situated in
Bangalore

b. Ahmadabad

¢. Dehradun

d. Bhopal

Ans  of A1

X B2

X cs3

X D.4

g

Question ID : 4774416973
Status : Answered
Chosen Option : 2

Q61 Intra-personal communication involves:

a. An individual talking to a group

b. An individual communicating to a large number of people
¢. An individual thinking or talking to himself

d. Anindividual talking to another individual

Ans AT
X B2
ves
X D4

Question ID : 4774417016
Status : Answered
Chosen Option: 3

Q.62 ()gcar awards are also known as
a. Gate awards
b. Academy awards
¢. Humphrey awards
d. Grammy awards

Ans XA-1
B2
X cs3
X D4

Question ID : 4774417031
Status : Answered
Chosen Option : 1




Q.63 What is the full form of the news agency PTI?

a.

b.
c.
d

Public Trust of India
People Trust of India
Press Trust of India

Private Trust of India

Ans A1
X B2
v
X D4

Question ID : 4774417013
Status : Answered
Chosen Option: 3

Q.64 Who won the men's singles title at the 2020 Australian Open?

a.
b.
c.
d.

Rafael Nadal
Alexander Zverev
Novak Djokovic
Dominic Thiem

Ans A1
X B2
s
X D.4

Question ID : 4774416960
Status : Not Answered
Chosen Option : --

Q.65 A series of recorded audio episodes to which audience can subscribe is known as

a.

b
;
d

Vodcast

. Podcast

Sound forge

. Voice-over

Ans A1
B2
X c3
X D4

Question ID : 4774417010
Status : Answered
Chosen Option : 2




Q.66 Which actors got best actor award in National Film Awards 2019?
a. Akshay Kumar and Vicky Kaushal
b. Ayushmann Khurrana and Vicky Kaushal
¢. Akshay Kumar and Ayushmann Khurrana
d. Ranveer Singh and Akshay Kumar

Ans A 1
B2
X cs3
X D4

Question ID : 4774416968
Status : Answered
Chosen Option : 2

Q67 Broadcast media is linked with
a. Books
b. Radio
c. Telephone
d. Internet

Ans XA 1
VB2
X cs3
X D4

Question ID : 4774417023
Status : Answered
Chosen Option : 2

Q.68 The Union Cabinet has approved the setting up of Vadhavan Port in which state?
a. Maharashtra
b. Goa
¢. Gujarat
d. Odisha

Ans JAW
X B2
X cs3
X D4

Question ID : 4774416961
Status : Not Answered
Chosen Option : --




a.
b.
C.
d.
Ans X A
v

X c
p )

Q.69 First appellate, SIC, CIC are related with

RTE
RTI

Mid Day Meal
High Court

:

2

3

4

Question ID : 4774416965
Status : Not Answered
Chosen Option : --

a.
b.
c.
d.

Ans  of A
X B
X c
X D

Q.70 Hard news is mostly

Spot news

Society news
Entertainment news
Filler news

]

2

3

4

Question ID : 4774417009
Status : Not Answered
Chosen Option : --

a.
b.
c.
d

Ans JA
X B
Xc
XD

Q.71 Pointing towards a man, a woman said, “His mother is the only daughter of my
mother.”How is the woman related to the man?

Mother
Grandmother
Sister
Daughter

1

.2

.3

.4

Question ID : 4774417004
Status : Answered
Chosen Option: 1




%72 Olympic 2020 will be organized in?

A) Beijing
B) Paris
C) Los Angeles
D) Tokyo
Ans X AT
X B2

X cs
o4

Question ID : 4774416964

Status : Answered

Chosen Option : 4

Q.73 Find the odd word from the given alternatives?
a. Tape recorder
b. Transistor
c. Telescope
d. Telephone

Ans xA-1
X B2
ves
X D4

Question ID : 4774416994

Status : Answered

Chosen Option : 3

Q.74 Name the app launched by Reserve Bank of India that would help visually impaired
people to identify denomination of currency notes?
a.  “VANIA” (Visually Aided Note Identifier Application)
b.  “MVANI" (Mobile app for Visually Aided Note Identifier)
¢.  “VANI” (Visually Aided Note Identifier)
d.  “MANI" (Mobile Aided Note Identifier)

Ans X A1
X B.2
X cs3
W4

Question ID : 4774416975

Status : Not Answered

Chosen Option : --




Q75 Who is the Chairperson of the Central Board of Film Certification?
a. Anupam Kher
b. Pahlaj Nihalani
¢. Prasoon Joshi
d. Leela Samson

Ans A1
X B2
Vs
X D.4

Question ID : 4774417026
Status : Answered
Chosen Option : 2

Q.76 Which among the following States has the highest number of seats in the Lok Sabha?
a. Maharashtra
b. Rajasthan
¢. Tamil Nadu
d. West Bengal
Ans J A1
X B2
X cs3

X D4

Question ID : 4774416959
Status : Not Answered
Chosen Option : --

Q77 Choose the missing term out of the given alternatives: Q1F, S2E, U6D, W21C,?
a. Y44B
b. Y66B
c. Y88B
d. 788B

Ans xA_-]
X B2

s
X D4

Question ID : 4774416987
Status : Answered
Chosen Option : 3




Q.78 Prof. Amartya Sen has earned worldwide distinction in which of the following
fields/areas?
a. Geology
b. Biochemistry
c¢. Astrophysics
d. Economics

Ans X A1
X B2
X c3
o4

Question ID : 4774416981
Status : Not Answered
Chosen Option : --

Q.79 The first Hindi newspaper was
Udunt martand

Hindustan

Nai Dunia

. Navbharat Times

Ans  of A1
X B2
X cs3
X D4

Bo oep

Question ID : 4774417033
Status : Answered
Chosen Option: 3

Q.80 Cup is to coffee as bowl is to
a. Dish
b. Soup
¢. Spoon
d. Food

Ans XA 1
B2
X cs3
X D4

Question ID : 4774416996
Status : Answered
Chosen Option: 2




Q.81 Find the missing number: 6, 11, 21, 36, 56, 7?
a, 42
b. 51
c. 8l
d. 91
Ans A1
X B2
vos

X D.4

Question ID : 4774416997
Status : Answered
Chosen Option: 3

Q82 Which of the following has ‘Bahujan Hitaya,Bahujan Sukhaya as its motto:
a. Doordarshan
b. PTI
¢. Film Division
d. All India Radio
Ans x A1
X B2
X c3

o4

Question ID : 4774417017
Status : Answered
Chosen Option : 2

Q.83 The new 200 rupee note has the image of
a. Sanchi Stupa
b. Hampi Chariot
¢. Jantar Mantar
d. Sun Temple

Ans JAW
X B2
X cs3
X D.4

Question ID : 4774416974
Status : Answered
Chosen Option: 3




Q-84 Who among the following invented the World Wide Web (WWW)?
a. Sir Tim Bemners- Lee
b. Ralph H. Baer
c. Percy Spencer
d. Evangelista Torricell

Ans  of A1
X B2
X cs3
X D4

Question ID : 4774416983
Status : Answered
Chosen Option: 1

Q85 Select the one which is different from the other three alternatives.
a. CEFI
b. TRPS
c. GIIM
d. LNOR

Ans A 1
B2
X cs3
X D4

Question ID : 4774417007
Status : Answered
Chosen Option : 2

Q.86 National Voters Day is observed on which date?
a. January 22
b. January 23
¢. January 24
d. January 25

Ans XA 1
X B2
X cs3
o4

Question ID : 4774416970
Status : Not Answered
Chosen Option : --




Q87 AZ GT,MN,?2, YB

a. JH
b. SH
¢c. SK
d TS

Ans XA 1
B2
X cs3
X D4

Question ID : 4774416984
Status : Answered
Chosen Option : 2

Q88 What is editorial?
a. Piece of interview
b. A point of view of the newspaper
¢. One-sided approach of the Government
d. None of these

Ans A1
B2
X cs3
X D4

Question ID : 4774417012
Status : Answered
Chosen Option : 4

Q-89 Find the statement that must be true according to the given information.
Ten new television shows appeared during the month of September. Five of the shows
were sitcoms, three were hour-long dramas, and two were news-magazine shows. By
January, only seven of these new shows were still on the air. Five of the shows that
remained were sitcoms.
a. Only one of the news-magazine shows remained on the air
b. At least one of the shows that were cancelled was an hour-long drama.
¢. Only one of the hour-long dramas remained on the air.
d. Television viewers prefer sitcoms over hour-long dramas

Ans A1
B2
X cs3
X D4

Question ID : 4774417001
Status : Answered
Chosen Option : 4




Q90 The term TRP stands for___
a. Television Rating Profile
b. Tally Rating Point
c¢. Television Rated Purchase
d. Television Rating Point

Ans XA 1
X B2
X cs3
v W

Question ID : 4774417030
Status : Answered
Chosen Option : 2

Q9T 1fthe day before yesterday was Saturday, what day will fall on the day after tomorrow?
a. Friday
b. Thursday
c. Tuesday
d. Wednesday

Ans X A1
X B2
X cs3
o4

Question ID : 4774416999
Status : Answered
Chosen Option : 4

Q92 The communication based on purchased time or space is called:

a. Propaganda
b. Publicity
¢. Product
d. Advertising
Ans A 1
X B2
X cs3

W4

Question ID : 4774417019
Status : Answered
Chosen Option : 2




Q.93 Which goes with these cities - Lucknow, Patna, Bhopal, Jaipur
a. Shimla
b. Mysore
¢. Nagpur
d. Indore

Ans JAW
X B2
X cs3
X D.4

Question ID : 4774416992
Status : Not Answered
Chosen Option : --

Q94 Who is considered as the Father of Indian Cinema?
a. Satyajit Ray
b. Dhundiraj Govind Phalke
c¢. Prithyiraj Kapoor
d. Dilip Kumar

Ans A1
B2
X cs3
X D.4

Question ID : 4774416982
Status : Answered
Chosen Option : 2

Q.95 If TEACHER is coded as LMKJNMP, then how will HEART be coded?
a. NMAPL
b. NMPKL
¢. NPKML
d. NMKPL

Ans xA-1
X B2

X cs
o4

Question ID : 4774416989
Status : Answered
Chosen Option : 4




Q.96 Who is the Director General of World Health Organization (WHO)?
a. Simon Mfanzile Zwane
b. Adama Traore
¢. Dr. Tedros Adhanom Ghebreyesus
d. J. Wekesa Masasabi

Ans A1
X B2
vos
X D4

Question ID : 4774416979
Status : Not Answered
Chosen Option : --

Q97 HTML is used to create
a. Machine language program

b. High level program
¢. Web page
d. Web server

Ans A1
X B2
s
X D4

Question ID : 4774416966
Status : Answered
Chosen Option : 3

Q98 Which Indian movie was not nominated for Oscar Award?
a. Sholay
b. Mother India
c. Salaam Bombay
d. Lagaan

Ans  of A1
X B2
X cs3
X D4

Question ID : 4774417028
Status : Not Answered
Chosen Option : --




Q.99 Ahmed is taller than Salim. Salim is not as tall as Ahmed but taller than Akbar. Sohan

too is not as tall Salim but taller than Akbar. Who is the tallest?

a. Salim
b. Akbar
c. Ahmed
d. Sohan

Ans xA-1
X B2
ves
X D4

Question ID : 4774417000
Status : Answered
Chosen Option: 3

Q100 The reading of the script to check the errors is called:
a.

b.
;
d

Composing
Editing
Proof-reading
None of these

Ans X A1
X B2
ves
X D4

Question ID : 4774417018
Status : Not Answered
Chosen Option : --




